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Section A {30 x 2 marks = 60 marks)

For each question fram 1 to 30, four options are given. One of them is the
correct answer. Make your cheice {1, 2, 3 or 4). Shade the correct oval (1, 2,
3 or 4} on the Optical Answer Sheet provided.

1. Sludy the classification 1able below.

Materials
rubber o e - ; bfas&c __
cotien ; ST T styrofdam

The above materials are grouped according to whether
they

(1}  are waterprcof

(2) float or sink in water

{3} ars man-made or natural
(4)  allow light to pass through

2. Which one of the following statements is false?

(1}  Fungi reproduce from spores,

(2)  Fungi are neither plant nor animal

(3) Fungi feed on dead plaitsand animals. _
{4)  Fungi contain chlorophyll to make-thair own food.



3.

Gary made some observations of the animals below and recorded them,

it

grasshopper

-
/BT

ant

Which one of his observations was/ were_:y.rrang? _
A Not all of ther have wings,

B Their bodies are divided inio parts.

C. They have the.same number of jointed legs.

(1} B only (2) Conly

(3) - AandBonly {(4)  AandConly

Study the classification chart below.

Things
! -' = .j ;
Living things Non-living things
be S @neesalive ‘Never alive
‘(I |z

Which one of the following groups of objects represents X, Y and Z
correctly?

X ' Y zZ
{1 orange juice fish glass
(2) flower silk’ paper
(3) eggshell bone - . plasticine
(4} kitlen wood iron




5. How are parrot, duck, platypus and snake simifar? -

They

(1}

eat only meat

(23  are not mammals
(3)  do not give hirth to young altve
{4)  have an outer covering of feathers
5. Which one of the following statements about plants is not true?

{1)
(2)
(3)
(4)

All plants have chlerophyll.

All roots grow in the ground.

Some plants growinwater. 7
Trees and shrubs have strong sterns and can stand uprigh't

7. Zoe wanted to prove that plants have the characteristics of a living thing.
She put some bean plants in a black box with an opening. She then placed
the box near an open window and watered them daily.

From the experiment below, she was able to shew some c:-f the
characteristics nf a living thtng '

Bean plants __|

; ' _ N
S & e
f'r? ‘&H : - ! r"? e

Opening

A few days later

Which of the following characieristics were shown in the experiment?

TOm®

BN

Plants die.

Flants reproduce.

Plants respond to changes.

Plants need air, water and food to grow.

Aand B only
B and G only
C and D only
A, B, CandDonly -

=7



8 Forthe classification table below, Mr Lim asked his pupils to give a
- suitable heading to P and Q. '

P T Q
angsana : peach
balsam tomato
casuaﬁna rambutan

. Which headings would you give?

P T T a
(1) fru T vegstbles
2) | more than one seed - _ _ I 'nnedsélé{'i:“
@ [ inedible | edible
(4} flowering planis - . non-flowering plants
8. Mary weighed -some. leaves' in & box. She placed a butterly at a

particular stage of its life cycle into the box. At the end of 3 hours, she
noted that the bulterfly was still alive. The graph below shows the
weight of the leaves over 3 hours.

Wi of
Leaves (g)
------ A .-':7.7.-':"-?--'—?.
3 Time
houis

At which stage of the Hfe cycle of the butieifly did she: put the insect
intc the box? '

(1) egg T (2} larva

(3 pup a - (4) adult



10.  Which one of the following diagrams shows the life cycle of a mosquito?

E
{1) /' g9 \ (2} /Pupa \
Adult Aduit
' Mogquito . Nymeh Mosquito Nymph
Larva \ Egg ‘/

Adult Pupa

Larva .
maosquito : .
'\ / 9 Masw /

E
g9 Larva

- Pupa | | ' Egg.
AN

11, Two identical seeds were placed in a dish each as shown below,

Dish A Dish B

After a few days, only the seed in. Dish A germinated.

Which one of the following options Iikely describes the conditions for

each seed?
Dish A Dish B
{1} Flaced in aqq dark room and Placed in = refrigerator and
watereddally . . |~ watered dally
(2} Flaced in a dark place and | Placed under siinlight and
not watered watered daily
{3) Was put in a container of Was put in a pot of oil.
alcohol
{4) Was wrapped in aluminium | Was putin a zip-lock hag and
foit and not watered not waterad.




12.

3.

14,

Which one of the following pairs is groupeg wrongly?

Simple Systems Complex System
(1) Shoa Computer
(2) Chair ' Camera
{3) . Water Bottie Boy
{4) Flower Stapier
Study the diagram below.

Which of the following statement(s) is / are true about organ X7

A It is where digestion first begins.

B Itis mainly made up of muscles,

C it can break food down into smaller pleces.
{1}  Aoniy (2} Conly

{3) BandConly - (4). ABandC

Digested food passes inia your blpnds{_ream

{1} from the holes i your gullet -
(2)  througtithe walls of the small intestine
{3) through thi blood vessels under ihe gkin

(4)  from the membrane of the large intéstine

2%

EZRY,



15,

16.

17.

4

The a! Dasmond's elbows and kneas enahbls him to move
his limbs. '

A joints

B bones

C muscles

(1Y Conly {2y AandBonly

{3) Aand Conly {4y ABandC

The iable below describes the characteristics of Nicole's parents.

Father ' W Mother

Brown Hair . Black: Halr -
Black eyes Brown eyes
Has long legs Has long legs
~ Canroll his tongue - o Can roll her tongue

Based on the above information, which of the fc-llcwmg description of
Nicole are fikely to be true?

A She has long legs and blue eyes.
B ‘She has brown hair and [ong legs.
C 5he has Black hair @nd cdn roll her fongue
0 She cannot rall her tongue and has short legs.
- (1)  AandB only o {2} 8and Conly
(3 CandBbonly - . {4y ABandC

The table below shows the func:hons cf the skeletun of d?f’feren!
animals. :

Animal :Function of iis skeletun

Eagle .| helps i to fly

Monkey gives its body shape

Cockroach protects its body

jwilapllas]p=

Saz Turlla allows it $o stay under water for long period of

time

Which of the above functions are correctly matchet! to the animals?

(1) AandBonly {2} . Band Conly
{3y A,BandConly {4y A B CandD

13



18.

9.

20,

21.

Three boys are talking about their surroundings as shown below.

| think there Is
| heard dogs | can only see sOMmeone
barking. cats around! breathing down
! my neck...,
Z L BN
Darren Eugene Felix

Which of the foliowing senses did the boys used in order to make their
observations? :

(1) hearing and sight

(2} taste, touch and sight
(3)  hearing, smell and totich
(4)  touch, sight and-hearing

Which of the following statement(s) isfa‘ré_ true about our iﬁusclea‘?

A Musgles wark in pairs.
B All muscles are attached to our bones.
C Muscies lengthen when they contract.

(i}  Aonly . {2) AandBonly
{3) BandConly - 4y AB,andC

In the table below, a tick ¥ indicates that water-carrying fubes can be
found in that part of a plant. Which of the following options indicates the
correct parts of the plant where vou will find these tibes?-

Stem | Fruits | Leaves | Flowers
() ) of
(2) J g J
{3) J v v
(4) 4 + + +

Which one of the fellowing is TRUE about the veins in'a jeaf?

{1)  They make food for the plant. ..

(2)  They give the leaf its unigue colour.

(3)  They are pari of the transport system of the plant.

{4)  They capture the carbon dioxide needed by the plants.



22

23.

24,

What da plants produce when they undergo photosynthesis?

A. Oxygen

B. Carbon Dioxide

C. Salt

D.  Sugar

(4) AandC only {2) AandDonly

(3) BandConly () BandDonly

“The dlagram below shuws Ball C roi]mg dnwn Plane B. It s‘mppedwhen

it reached the point above A,

S
et

Wooden
block

Which of the following options best describes the properties of A, B and
C?

A B c
{1} Magnetic Strong Magnet Noen-Magnetic
{2) Non-Magnetic __ Magnetic Strong Magnet
(3 Strong. Magnet Non-magnetic -~ Magnelic
{4 Non-Magnetic - Magnetic " Magnetic

Which of the following items would interact with a magnet?

(1)  a pair of gold earrings (2) anickel coin
(3) a plastic spoon (4}  awooden ruler

10 . %x‘



25. A magnet was broken into 2 pieces as sﬁown below.

R

After
breaking_

Which one of the following options shows.the possible poles at A,B,C

and D7

A B G D
{1} N N 8 5
{2) 5 S N N
(3) i 5 N 5
{4) N - N N s |

26, Which one of the following items does not have magnets in them?

{1}  lightbulb (2) compass
(3} radio (4) telephone

11

36



The diagrarm below shows 3 ring magnets, A, B, and G.

Woocden
Stand

Wooden
Base

‘Which one of the following options represents the peles at A, B and C7

: A B C
1) North South South
2) __Sauth North Morth
3) North ' South’ North
4) South South ' “Nortth

" Which one of the foliowing actions would not result in magnetisation of
the materials below? -

-

(1) . Passing an eleciric current through a coppar wire which is colled
20 firnes arcund an iron nail,

{2)  Stroking the entire length of an iron nail 20 times with one pole
of & bar magnet in the same direction.

{3) Coiling a copper wire 20 times around an iron n'aIL Then, siroke
the copper wire with another nail in the same direction.

(4)  Stroking half the tength of an iron naii 20 times with the south
pole of a bar magnet in the one direction and then stroking the
other half of its [ength 20 times using the north pole of another
magnet in anotheér direction. )



L b,

29. A bar magnet XY was left to.turn freely and it rested in the position as
shown in the diagram below.

Which one of the following options below explains the above situation?
{1} A free lurning magnet would always rest In 2 West-East positian.

(2} . Xis the West pole of the bar rnagnet, thus it is attrécled by the
- -East pole of the compass needle.

(3)  The compass has been dropped so many fimes that it does not
point in the same direction as the free tumning magnet,

(4)  The compass has a very strong magnetic needle, so it is able to
interact with the bar magnet and cause it to rest in a West-East
position, T
30.  Which of the foliowing are common uses of electromagnets?
A) televisions
B} loudspeakers
C) toy magnetic chess set

(1) Aonly (@ Bony
(3)  AandB only (4) Band Conly

13/14




Seclion B (40 marks)

Write your answers to questions 31 to 46 in the spaces provided.
Marks will be deducted for misspelt key words.

di1. Study the classification chart below carefully.
Then answer questions {&)}, {b} and (c).

. Li\ﬂ'nf Things

| j |

Animals - Y zZ

X7 Flowering? N EI |
o Toadstost.
> D¢

snail bat Mmass ixora

jellyfish - snake farn papaya

earthworm  giraffe yaast hibiscus
a) Describe characteristic X above. (1 mark)
b)Y  The heading for Y is _ ) {1 mark)

The heading for £ is ' {1mark)

-

a) There is a mistake in the classification chart above. Circle it. (imark)

o A“_‘?G\ "'ﬁt R 15 -‘-z/?



33;

the property for one of the materials chosen. Complete the rest of Hhe

table by explaining the property for each jtern, {2 marks)
[ ] Itemn Material  [Why it is suitable
1) | T-shint cofton absorbs sweat

2) | balloon rubber

3} { cooking pot sieal

4} | raincoat | plastic

E}J boat woad - T : T

Saliy has a hamster. She gives it seeds to eat and water to drink every
day. Sally loves to watch her hamster run on the wheel in its cage. It
will need a bigger ¢age scon as it has grown tog big for its cage.

List twe characteristics which show that Sally's hamster js a living thing.
: (2 marks)

16




34. Below are the characteristics of two animals A and B.
Study the characteristics and use them to answer the following

questions.

Characteristics of Animal A Characteristics of Anirmal B

« Lives onland and in waier » Lives in waler

» Eats other smaller animals = Eats fish

« Lays eggs o (Gives birth to young

alive
» Feeds its newborn with = - Feeds its newborn with
_scraps of food milk . '

a} Which animal(s), A or B, isfare not a mammal? {1mark}

") Using the information/characteristics in the table above, explain your
answer in (i {1 nark)

L&

35.  State whether the following statements are frue or false.
Write "T" for True and "F” for False in the brackels provided. (2 marks)

A} Al living things goes through a life cycle. ( )

B} A life cycle can be made up of just one stage. ( )

C) A frog and a beetle has the same number of { }
stages in their life cycles.

o

E) A pattern that repeats jtself over and over again { )

is a cycle.

17



36. A chilli seed was planted in a pot of soif and was given all the right
conditions for it to germinate.

a}“ ‘in Figure 2, draw only the next sfage of development for the
germinating seed.

{1 mark)
After a -
] few days e
Figure 1 - Figure 2
b} "+ A seedling first gets its food from the The seedling
can only start making food when the -develen.
{% mark)

37 Anna studied the nymph of an insect over a period of tirme and noticed
that it moulted several times. : -

a) Why does & nymph of an insect moulty? (% mark)

b) How many stages are thare

in the life cycle of the insect studied by
Anna? :

" {1 mark)

18 4



For Questions 38 and 39 please refer to the diagram below.

Clear air tight plastic box . Spoon

Banana

FEACETI

Tfaﬁ door tﬁ lIefin
cockroaches

38. Betty used the set-up as shown below to study the senses of the
cockroach. She placed a metal spoon in container A and a peeled
banana in container 8. She then released ten cockroaches outside the
trap door of the above set-up, Thirly minutes after she had released the
cockroaches, she counted the number of cackroaches that were
crawling around each container,

a) Which one of the cockroach's senses was Belty studying? {1 mark)

b) ....Why did Belty need two different uhjects in the containers for this
experiment? {1 mark)

19 -



38.  Betty would like to study if cockroacheg could use only their sense of
smell te look for food. She used the same set up as shown in the
diagram for the previous question. However, she replaced the clear
plastic conitainers with the foilowing containers:

b E F G
AN S g [
Clear pl'aéfif: ‘metal container Cléér,. air tight  metal container
cortainer with with {iny holes glass container without holes
tiny holes . without holes

Which ane of the abeve container should she use?

a) She should use container

- 'lzf'lf.fﬁark)

b} Besides looking for food, state another function of the senses of the
cockroach. (1 mark)

20



40.  Study the diagram below.

Diagrém A ' Diagfarn B
The frog can hop very far with its hina ,ii_rnbs. '

a}  Which of the above diagrams shcws-—th‘e~hind Ii?nbé_uf.theﬁrog;? (1 mark)

b)  The muscles of the hind limbs of a frog allow it to hep very far,
Describe how the muscles of the hind limbs are different from that of
the front limbs. ' ' {1 mark)

21



41. Jerry just ate a slice of pizza. The bar graph below shows the amount: of
digested and undigested pizza in four organs (A, B, C and D) of the
digestive system over 2 hours.

F..9
a o
F T
Amount 9 g
of : a
Foad &

=
m

&\\\m sw@no

Dli;esh:d
Fagd -

I'ndigestad
Food

Time
a. Which organ of our digestive system is organ C most ikely to ba?
' {t mark)
b. Explain your answer in part a. {2 roarks)

¢. The bar representing the amount of digested and undigested food
found at organ E is missing. Complete the graph above by drawing a
suitable bar to represent the amount of digested food and ,
undigested feund that you might find at organ E, (1 mark)

22
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42,  The diagrams below show 2 plant parts, R and S.
R
Rose plant = Sweet potato plant
a) State one similarity hetwesean .F{ and S. - ' {1 mark)
b} State one difference between R and S. {1 mark)
c) Draw an arrow and label it in tha diagram above indicating a plant part
' where food is made for the sweet potato plant. {1 mark}
43.  Fill in the empty boxes with suitable word(s} to compiate the fiow chart
below. - {3 marks)
Movable loints found tn the arm
I
lypes
!
K b} |
l elbow J c} _ ~ shoulder

23 “



44.  Magnet X was supported bya string as shown below.

X
@) Magnet Y was then brought near Magnet X as shown below.
X Y

1.1

Explain why the sting was slanted to the right as shown above?,
(T mark}

D) Magnet Z was then brought near to Magnet X and the diagram beiow
shows what was observed.

Z X Y

Why was there no gap between magnet X and Y as cormpared to the
diagram in (a)? {2 rnaris)

Ny 4



45, Peter out & bar magnet intqa contaiqer of iron filings.

T IR T
"!’I “ ] N "}{p.’.l.ly.l,:._"}!'—l-.-.}{:
G fl‘li‘.‘."'lﬂt"‘lllf At ﬂ}}H
S :."%Elfl}l;'

._l!.%y"“’f B
'-|i it '*Hf flt'—ﬂ 'hli

Container of Iron Filings

a) The bar magnet was then remaoved from the contalner In the box
below, draw the magnet ta show where mast &f the iran fillings would.
be found, after it had been removed from the container. {1 mark)

b) E'xplain your drawing in (a) ' - {1 mark)

25



46.

2)

in the setups below, both A and B are rragnets.

Markings are made on the materials to measure the distances moved

hy the magnets.

Glass—

Lialiaatiael

II_II!IIllllllllliiillllllllll

laaataraliaclyyad

® ]

Handle

Setup 1

«—— Material
Y

2

Handle

Setup 2

Magnet A was moved upwards a2nd the distances moved by Magnst A
and B were then recorded in the tables below.

Sefup 1 [Glass)

Distance Distance
moved by A {cm) moved by B {cm)
5 5
10 10

1h 19 ]
. Setup 2 (Material Y)

. Distance Distance
moved by A (cm) moved by B {cm)
5 [+
10 0]

15 0

What material could Y be made of?

{1 mark)




b} Explain your answer in {a).

{2 marks)

e — END OF PAPER
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Q32.

Q33 (1)
(i)
{}34a.

)35a.

)36a.

Answer Sheets
Nanyang Pri 3 SA2 / 2006 Science

2y 4 3) 2 44 4 5 3
773 8 3 -9 2 10) 3
12) 4 13} 3 14y 2 15 4
17} 3 18) 4 19 1 200 4
22) 2 23) 3 24y 2 25y 3
27 3 % 3 29 3 30 3
Body coverings

The heading for Y is plants
The heading for Z is fungi

It is yeast.

(2) bhalloon rubber : ilis elastic

(3} cookingpot - steel : good conducter of heat
{(4) raincoat - plastic : it is waterproof

(3) boat - wood - it can fioat

Tt needs food, water and air.
It can grow.

Animal A is not a mammal.
It feeds its newborn with scraps of {ood.

All living things goes through a life cycie. True

A life cycle can be made up of just one stage. False
A frog and a beetle has the same number of siages in their life cycles.False
A pattern that repeats itself over and over again is a cyele. True

Afler a
few day=
————

(4

Flgura 1 I-;Ig';r;a 2 .
A seedling fivst gets its food from the seed leaf. The seediing can only
siart making food when the leaves develop.

Pape 1 of 3



Q37a

3384

()39%a.
b.

Q40a.

Q4ia

Q42a,
b.

QdZe.

Q43a.
b
¢,

<im0

Tt sheds its old skin and grows a new one as it grows bipgger,
It has 3 stages of hife cycle.

It uses it sensc of sight.

She wants 1o find out how many cockroach crawl to the peeled banana in
Box B.

She should use container E

The sense of sight helps the cockroaches to ses any danger around and
keep away from danger.

Diagram B
The muscles in the hind legs are steonger than the front limbs,

Digested Food _—
Digested of food that we eat siarts in the mouth. The food that we sallow
travels down the gullet into the stomach,

m I¥ng

Both have roots.
Rose plant has tap root while sweet potato plant has storage root.

Plants part whﬁ?é"fbu:i_ is made for
the sweel patato plant

Faeet potato plant
Hinge joint

Ball and socket
finpcr

Pogr 2 0f 3



Q4da, Recause hoth arc unlike poles, its atiract each other.
h. Magnet Z repels Magnet X because they are like poles. Like poles of 1wo
differcnt magnets will repel or push each other away.

Q45a. N AN W S
@@WM‘ SR

EARARRNR L SN

RN
b.  Magnetism is strongest at the pales
Q4o6a. Steel
h. Objects that are not attracted to magnels are known & non-magnefic
objects.

Pape 3ol 3



